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3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)
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2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
— (3x—1)(x+3)
La=-1,b=3
La+3b=-1+9=8
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3x -2y = Azt 5}
(Bx—2y+1)2=(A+1)2

=A% +2A+1=(3x-2y)> +2(3x—2y) +1
=9x2 —12xy+4y? +6x -4y + 1
LA=-12,B= -4

~A-B=-8
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x2 = 2xy — 15y = (x — 5y) (x + 3y)
¥2 - 9y2 = (x+ 3y) (x — 3y)
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x2 -y 4+6x-2y+38
=224 6x— (2 +2y-8)
=x>+6x-(y+4)(y-2)
= (x— - D}lx + (v + 4)
=x-y+2)(x+y+4)
ca=1b=-1,¢c=2
“a+b+c=2
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a?—2ab+ b2 +4a—4b = (a—b)? +4(a—b)
=224+4x%x2
=4+38
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8. x+y=3 xy=2¢% 0 x*+y*0Fe?
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P4y =(x+y)>?-2xy=38"-2x2=5
byt = (P 4y - 2(y)? =25 -2%x4 =17
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o2 5 23?2 — X%y — x% +xy 9 150

@x—l @ x+1 @ y+1 @ x+y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)
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